(PID Control)

(Integral of the Absolute Value of the Error, 1AE),
(Integral of the Square of the Error, ISE)

5-1 5-2
IAE = T_ﬂe(t) |dt (5-1)
ISE= a]e:(t)dt (5-2)
(Matlab)
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5.2

5.2.1 80°c

80° C
4-2 4-5
(Tn (T)
5.3,
5.4 5.5
5.1

*loD\t (IAE) *loDit (ISE)
5-3 5-4

%Dif (IAE) 9-3 5-4

DIf (IAE) = RE Of OMC{AE S A <00 oy « 100 (5:3)

%Dif (ISE) = ISE of GMC - ISE of PID (Open loop)  1AA

— ISE 0F GMCrorremrrore X 100 (5-4)

5.3

(T
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5.1
80°C
|IAE "Dif(IAE) ISE ADif(ISE)
Open loop 668.7386  47.69 2.2492 x 104 51.68
PID Controller ~ 460.2863 1.65 1.4851 x 104  0.148
GMC Controller  452.7955 1.4829 x 104
(T rep)
20
Tr (18.3 ) 89.9505 °c Tr(18.4 ) 90.0394 °c¢
18.3-18.4
Tr(25.0 ) 93.4171 C 5.3
18
30 C
5.5

5.6
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5.1
5.2

5.7 5.2

5.2

IAE ADIf(IAE)

PID Controller ~ 462.8331 1.906
GMC Controller  454.1785

( 60°C)

20

80°¢

60°C
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60°c

60°c
5.8

ISE ADIf(ISE)

1.4935 x 104 0.174
1.4909 x 104
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PID Controller S %D if
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